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Details of pipe vice are shown in fig - 2, Assemble 

the components and draw the following views.

(a) Front elevation

(b) Plan

OR

ALL DIMENSIONS ARE IN MM
Fig No. - 02
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Time : 3Hrs. Sem - III-Mech. Engg.   

Mech. Engg. Drg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Two questions from Group B, each question 

carries 10 marks.

Answer One question from Group C, question 

carries 30 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Parts List
Parts No.

1. Rod  FS 1
2. Cap  FS 1
3. Bearing Brass GM 2
4. Bearing BushP Bronze 1

 5. Bolt MCS 2
6. Nut MCS 2

NameMatl.Qty.

ALL DIMENSIONS ARE IN MM
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

In first angle projection .........?

(a) Object is kept in 1st quadrant

(b) Object lies between observer and plane 

      of projection.

(c) Plan comes below elevation

(d) All of the above

Hatching lines may be drawn at .......... to

the main outlines of the section as and when 

required .
0

(a) 30
0

(b) 45
0

(c) 60

(d) All of the above
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Parts List
Parts No.

1.  Rod  FS  1
2. Cap  FS  1
3. Bearing Brass  GM  2
4. Bearing Bush P Bronze 1

 5. Bolt  MCS  2
6. Nut  MCS  2

Name Matl. Qty.

ALL DIMENSIONS ARE IN MM Fig No. - 01

(iii)

(iv)

(iii)

(ii)

(a) Hold the job

(b) Guide the tool

(c) Both (a) and (b)

(d) None of the above

(a) Sunk

(b) Round

(c) Saddle

(d) None of the above

1625302

P.T.O

3NT3028



171625302

P.T.O

NT3028

                 GROUP  - C

Assembly drawing of connecting rod of petrol 

engine is shown in fig - 1 . Dessemble the 

components and draw two views of each 

component and show the dimensions.

Answer One Questions.

4.

30 x 1 = 30

30

4 1625302

(iv)

(v)

(v)

(vi)

on the lathe bed.

(a) Rolled

(b) Spinned

(c) Moved

(d) None of the above

shaft diameter is ................ the hole diameter.

(a) More than

(b) Less than

(c) Equal to

(d) All of the above

NT3028
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(vii)

(vii)

(viii)

(vi)

The revolution per minute is driving and 

driven shafts will be different in case of 

.............

(a) Muff coupling

(b) Universal coupling

(c) Leather link coupling

(d) Compression coupling

(a) Horizontal shaft

(b) Vertical shaft

(c) Two shafts at small angle

(d) All of the above

1625302
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(a) Show the conventional representation of 

      following materials:-

(i) Cast Iron

(ii) Brass

(iii) Aluminium

(b) Show the representation of following processes :-

(i) Knurling

(ii) General welding symbol
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(viii)

(ix)

(ix)

divided in small number of parts and projection 

is transferred for each point is called ........... 

drawing auxiliary view of an object.

(a) Inclined of surface

(b) Curved surface

(c) Opposite surface

(d) Equal surface

NT302815
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A cylinder 50 mm diameter and 70 mm axis is 

completely penetrated by another cylinder of 

40 mm diameter and 70 mm axis horizontally. 

Both axes intersect and bisect each other. Draw 

projections showing curves of intersections.

25 mm and height 60 mm rests in H.P. on its base 

with one of its base edges perpendicular to the V.P. 

Draw its principal views and add its primary

auxiliary plan on an AIP (Auxiliary Inclined Plane) 
o inclined at 45 to the H.P. 

NT3028
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Tolerances are given to the parts ..........

(a) Because it is impossible to make perfect 

     setting.

(b) to reduce the weight of the component

(c) To reduce cost of the assembly

(d) To reduce amount of material used

The type of tolerance provided in drilling is 

mostly..............

(a) Bilateral

(b) Unilateral

(c) Both (a) and (b)

(d) Zero tolerance

(xi)

(xi)

(x)

(x)

1625302
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A hexagonal pyramid , having a base with a 30 mm 

and a 70 mm long axis , rasts on the ground with a 

side of base parallel to V.P. A circular hole with a 

30 mm diameter is cut through the faces of the

pyramid such that axis of the hole and pyramid 

interesect at right angle and 25 mm above the base. 

Draw the development of its lateral surface.

10

2.

Answer all Two Questions.
10 x 2= 20

NT3028
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Crowing on pulley helps -

(a) In decreasing the the slip of the belt

(b) In increasing the speed of the belt

(c) To keep the belt in centre on a pulley 

      while it is in motion

(d) In increasing the life of pulley

Screws used for power transmission should 

have-

(a) Very fine thread

(b) High efficiency

(c) Low efficiency

(d) Strong teeth

(xiii)

(xii)

(xii)

(xiii)

NT3028131625302
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(xix)

(xx)

(xx)

on the bearing when shaft is ..............

(a) Stationary

(b) Rotating at rpm < 10

(c) Rotating at rpm < 5

(d) Rotating at rpm < 15

NT3028
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A hexagonal prism is recting on H.P. on one 

of its longest faces, axis is perpendicular to 

V.P., the section plane is perpendicular to 

H.P. and inclined to V.P. and cutting solid 

approximately at middle. The section will

be like a .....

(a) Hexagon

(b) Irregular hexagon

(c) Rectangle

(d) Trapezium

(xiv)

(xiv)

1625302
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(xviii)

(xviii)

(xix)

A regular cone is being cut by a plane which 

is parallel to the axis of cone, the section 

formed will be like ..........

(a) Ellipse

(b) Hyperbola

(c) Circle

(d) Parabola

the line of intersection will be ..............and

parallel to the axis of ..............

(a) Straight line, prism

(b) Curve , Prism

(c) Straight line, cone

(d) Curve, Cone

NT3028
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The development of the lateral surface of a 

cylinder is a rectangle having one side equal 

to the ............. of its base circle and the other

 equal to its length.

(a) Circumference

(b) Area

(c) Diameter

(d) Radius

 pyramid consists of a number of equal 

............ triangles in contact.

(a)  Equilateral

(b) Isosceles

(c) Scalene

(d) Right angled

(xv)

(xvi)

(xv)

NT302811

faces on H.P. and axis of prism is parallel to 

V.P., The section plane is perpendicular to

both H.P. and V.P., the section will be a ......

(a) Rectangle

(b) Trapezium

(c) Pentagon

(d) Irregular pentagon

1625302
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(xvii)

(xvii)

P.T.O

NT3028



ALL DIMENSIONS ARE IN MM

***

211625302 NT3028

ALL DIMENSIONS ARE IN MM

***

211625302 NT3028


	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11
	11: 21 - 21

